Week 2 Quiz 2

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

1. What is the missing number?

18 24 30 [ | 42

4:1

11. 7 x 11 =

4:9

2. What is the missing number?
7,000 8,000 9,000

4:1

12. Circle the sum that is the same as
27 x12: 3x4x9 3x9x12

4:10

3. Round this number to the nearest
100: 5,731

4:2

13. 293x7 =

4:11

4. What is 1,000 less than 3,293?

4:2

14. To work out 53 x 8 you could do:

|:|x 8+3x|:|

5. What is 3 less than 1°?

4:3

1
15. Circle3the eq15,|ivalen§ fractionto= .

7

28 35 56

4:13

6. What is the value of the 2 in this

4:4

16. Complete 22 23 24

4:14

number? 3,296 the sequence: 100 100 100

4:5 4:15
7. Write the number 37 in Roman 17. 9,2
numerals. 5 5

8. 1,235+ 824 =

4:6

18. Write 0.5 as a fraction.

4:16

9. Write the sum to check 1,930 + 383

=2,313:  2,313[ ] 1,930 383

4:7

19. 8 + 100 =

10.There are 213 people on a train. 28
get on & 49 get off. How many now?

4:8

20. Label 4.25cm on the ruler section:
T T T T T T T T T 1
4 4.5 5

4:18

Total (A)

Total (B)

Quick Quiz

You have 20 minutes to answer
as many questions as you can.
No printer? Rewrite out the
questions in your work book.

Set your timer and see how
many you can answer.

Answers are on the next page,
mark and edit using a different
coloured pen!




ANSWers:

A: Place Value, Add and Subtract

B: Multiply, Divide and Fractions

4:1 4:9
1. What is the missing number? 11. 7 x 11 =
18 24 30 [ | 42 36 77
2. What is the missing number? 41 12. Circle the sum that is the same as 4’;0 9
. ! ) X9x
7,000 8,000 9,000 10,000 | 27x12:  3x4x9 @ 12
4:2 4:11
3. Round this number to the nearest 13. 293 x7=
100: 5,731 5,700 2,051
4:2 4:12
4. What is 1,000 less than 3,2937? 14. To work out 53 x 8 you could do:
2,293 [ Jxs+3x[ ] 50, 8
5 \What is 3 less than 12 4:3 15. Circle the equivalent fractionto 1 . | 413
' | 2 3 5 7 [
28 35 56 35
4:4 4:14
6. What is the value of the 2 in this t1h6 Complete. 23 24 |—— 25
number? 3,296 200 €sequence: 700 100 100 100
. . 4:5 17 4:15
7. Write the number 37 in Roman ' 9,2 11
numerals. XXXVII 5 5 5
4:6 4:16
8. 1,235+ 824 = 18. Write 0.5 as a fraction. 1
2,059 -
2
9. Write the sum to check 1,930 + 383 | 47 19 8 = 100 = 417
=2,313: 2,313 |—| 1,930|—| 383 -, = 0.08
10 There are 213 people on a train. 28 48 20. Label 4.25cm on the ruler section: | 418
get on & 49 get off. How many now? 192 Lll K L 4!5 o _l, Arrow
Total (A) Total (B)







